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B. Motivation and overview of topics

· What the course is about – transformation of an undeveloped country into a developed one, a poor country into a wealthy one, agricultural into industrial, traditional into modern. A variety of terms are applied to the process. How would you define development? (1) what is it (how do we think about this question – determined by policies made by people who have a notion of what they want to accomplish), (2) what should it be, (3) how to measure it. We can argue ad infinitum over (1) and (2). What we’ll get in this course are analytical tools for this argument.

· Some of the terms suggest the types of transformation we have in mind. Poverty suggest income growth (perhaps most ubiquitous association). Industrialization suggests capital accumulation, technological advancement (though much developed country activity is actually in services). Improvement of living standards. Expansion of choice set of opportunities in life. Development of a legal infrastructure to protect individual rights. Perhaps most important change of all, is one in the nature of transactions between people – away from personal, informal transactions, e.g. family enterprises, credit based on long-term relationship, to formal, impersonal, e.g. employment contract, collateral with associated imp of legal and enforcement infrastructure. How is this fundamental to everything else – underpins specialization. Latter than permits guarantee of various forms of freedom.

· Most widely used measure of development is growth of GNP or GDP. Does this imply that some people believe that this is the only relevant measure of development? Not necessarily. In general, advocates of GNP believe that improvements in other dimensions follow the growth of income. We’ll look at some data, which speaks to this as we examine the various dimensions of development throughout the course. 

· So what is the development picture around the world? According to WB classification (1996) low and middle income countries are ones below $9,000 per capita. By this measure, 4.5 of 5.6 billion people in world (1997 figures) live in these, about 80%. In 1991 about 60% of the world’s population lived in the lowest income countries defined then as below $600 per capita. OECD on ave have per cap GNP 9X that of ave for middle income countries (e.g. Mexico, Phillipines), and more than 50X that of 42 lowest income countries (e.g. India, Tanzania), so for example in 1992 GNP of India measured in $ was 310 while that of the U.S. was $23,240 which is a factor of 1 to 75. Difference between poorest and wealthiest U.S. state about 1 to 2 (in 1985). So you might worry that these figures do not reflect differences in prices. If we take these into account the difference drops to 1 to 20, much smaller indeed but still a huge difference by any standard. 

· Perhaps income not the only thing would want to look at. Perhaps exaggerates differences. Differences in energy consumption, life expectancy, adult literacy, rural pop share.

· These differences notwithstanding, if the poor countries are growing fast and therefore catching up fast, perhaps there’s nothing to worry about after all. How has the picture changed over time? Incomes and growth rates of developed countries have converged but not those of low and high income. In fact, have diverged. Share of 5% of world’s richest nations 1960 – 1985 stable at approx 29 times corresponding figure for poorest 5%. But composition of poorest nations has changed. Per capita income in Latin America fell 11% in 1980s. These are middle income and catching up now, but much of sub-Saharan Africa also stagnated or declined.

· What accounts for these discrepancies? Why did the industrial revolution take place where it did? Why do some countries grow fast and others grow slow? Why do some poor countries have very good quality of life indicators, sometimes better than somewhat richer countries and others don’t? 

II Evolution of development strategies

A. Theoretical overview

1) Rationales for government intervention

· Considerable interaction between theories and development practice.

· Main theme of evolution of theories and practice – to what extent should the govt interfere in the economy and to what extent should it allow markets to determine outcomes

· Classical debate – centralization versus decentralization. Planner who maximizes social welfare subject to resource constraints. Under some conditions competitive market equilibrium attains equivalent outcome.

· Theoretical basis for decentralization ( Fundamental Theorems of Welfare Economics: if all markets exist, function competitively and there is perfect information, then (1) every allocation is Pareto optimal and (2) every Pareto optimal allocation can be the market equilibrium with appropriate transfers.

· Under these conditions, not much role for policy. 

· However, stated conditions often do not hold. Not all markets exist, not all are competitive and there isn’t always perfect info.

· If these conditions are so strong, why is the result interesting? It is a benchmark. It is also useful to organize thoughts about what the problems with a market outcome may be; need to know roots of problem in order to formulate a solution. (e.g. if we’re thinking of govt as the solution, this may be reasonable when the problem is market power but not when the problem is imperfect info)

· One rationale for government intervention is to try to improve the economic outcome in those cases when the market does not achieve the best possible outcome.

· Another rationale for government intervention is equity. No reason why people privately should arrive at an allocation which we might consider equitable in some way. Need govt to implement redistribution. Issue: whose preferences does the govt represent?

2) Types of market failure

· Imperfect competition

· economies of scale ( natural monopoly, e.g. utilities

· barriers to entry – natural, man-made (possibly by failures in other markets, e.g. education, credit)

· incomplete information

· people may not observe all prices; quality, ability, productivity, or other info imp for production decision may be difficult to observe

· examples: (a) attributes of smth (adverse selection) - used cars, ability of a worker. Even if market does not unravel get costly signaling (single-crossing property) (b) actions (moral hazard) – the effort which a worker puts in, problem generated by need to provide insurance or inability to punish

· non-existing markets

· externalities: activity by one agent affects the welfare of another in a way which is not internalized (reflected in the utility of) by the producing agent, e.g. pollution, planting trees, dams (reduce floods), commons problem, one reason why social goods such as education and health services may not be provided optimally by private sector

· public goods: once produced, many people benefit from the existence of this good without having to pay for it, e.g. law and order, sewage system

· in all of these cases one can argue that a potential solution is govt regulation

· perhaps the most fundamental form of intervention is implicit in the last set of market failures – need for infrastructure of law and order within which mkts can function. Mkts are a nexus of contracts. If these can’t be enforced, system won’t work. Become increasingly important as transactions become increasingly depersonalized. Some self-enforcing (e.g. fear of retaliation) but not all.

3) Government failures

· govt intervention is not necessarily as obvious as it seems. Does the govt have an advantage over private actors in solving the problems? This is where classification of problems becomes useful. At an extreme, a central planner (e.g. govt) could produce the same efficient allocation that mkts could. So why leave it to mkts to begin with – decentralized info, costs of decision making and control, flexibility to adapt to changing conditions, automatic incentives, pvte ec activity disperses ec power and encourages democracy 

· Govt regulation of firms may prevent firms from taking advantage of market power, but requires a lot of info – incentive problems if the govt doesn’t know exactly the cost structure, how set the price? Extreme example – socialist systems. But poor management of govt – owned or regulated firms much more common than that. Become a source of rents for the politically connected.

· Hard for govt to overcome incomplete info problem unless has access to more info than private agents do. Can expect that private agents have better info than does govt. We’ll see examples in which intervention can help, but plenty of failures, e.g. wage and job security policies which concentrate incomes and reduce employment, interest rate ceilings which reduce and bias investment (counterintuitively away from poor), (both of these policies may be designed more for redistribution than for addressing info problems but point still stands) 

· Externalities and public goods most obvious candidates for govt intervention, but even there not obvious that private agents can’t do better. E.g. private “security agencies” in Russia. Response to lack of public provision of law and order. Makes some individuals better off. Society as a whole may or may not be worse off than if they didn’t exist (still without public provision).

· Finally, redistribution may well depend on gov’t action but even then outcome not necessarily desirable even when goal desirable, e.g. food price controls that discourage farm production, lead to famines

· In first half of century there was emphasis on need for govt intervention. This perception coming from two main sources: (1) Great Depression and Keynesian thinking about solutions, (2) Marxian theories and theories of imperialism – capitalists will drain surplus (or potential surplus) from 3rd world in order to maintain profits. Various strands, but basic theme: slow growth and inequality due to unequal relation between poor and rich countries. Poor countries have to sever links with rich world in order to grow. Examples – imposed free trade prevents countries from nurturing local industries – infant industry argument. Rich countries don’t want poor to develop because don’t want competition. 

· As you probably already know, current economic orthodoxy is to let markets solve economic problems whenever possible. Few people, if anyone, believe that markets can solve all problems. Question is, is gov’t better? 

· When govt interventions have worked and when they haven’t and what are the underlying principles will be a big topic in this course.

B. Historical overview

1) Devt strategies in the 1950s – capital fundamentalism

· After WWII capital accumulation seen as fundamental to econ devt, without it devt wouldn’t happen. Rosenstein-Rodan’s big push, Nurkse. Raul Prebisch and Hans Singer. 

· Capital accumulation fundamental because world demand would not grow fast enough to absorb growth in food and raw material exports on which developing countries depended. 

· Also, Arthur Lewis and theory of labor surplus in agric – initial industrial growth was “for free,” extra labor resources in economy anyway. 

· Emphasis coupled with belief that markets would not get it right. Free trade would bias against LDCs developing industries ( widespread belief in govt intervention. Fueled by Great Depression (seen as failure of mkts) and Keynes’ answer to it. Led to policies of import substitution. Based on belief in need to protect infant industries until able to compete int’ly. Protect while learning and while others whose demand or supply need also growing. Led to tariffs, quotas, interest rate restrictions, govt-set prices, govt ownership etc.  

· Example of Soviet Union important. Desire for large structural change. Russian goals and success in industrializing rapidly and extent of govt planning – wanted machinery and steel, but didn’t have either and main demand for steel would come from machinery sector which didn’t exist yet.

· Emphasis on capital projects by WB, 61-65 76.8% of WB lending (and half of IDA lending) for electric power and transportation.

2) Basic human needs approaches in 70’s 

· The capital – focused strategies led to growth which bypassed the poor in most countries. Increased inequality, no reduction in poverty. Also debate over the size of the role which capital playing in growth. This together with perception of imp of human capital (recognized even earlier in the Far East), led WB to lead the way in shifting emphasis to basic human needs. Approach introduced by McNamara (assumed presidency of bank in 1968). Lending for power, transportation, telecommunications, which had been 57% of total lending in 68, was 39% by 80. Also, more overall lending. From ’46 to ’68 devt loans varied between $700 and $800 million a year. In ‘68 new loans were $953 million and in ’81 $12.4 billion. Defining a new emphasis in lending in LDCs, rural devt, basic education, non-formal education, basic health, low-cost housing, and increased lending to industrial devt with emphasis on small-scale industry. These loans were still to govts, continued belief in govt intervention, especially in areas of basic human needs. However, beginnings of move away from intervention in industry. Growing perception that import substitution had very limited success and import and export controls stifled growth of domestic industries. Industries insulated from competition stagnated, flopping after initial success. Recognition of negative effects of credit restrictions. Also, beginning to recognize that it is counter-productive to starve agriculture in order to feed industry. W.B. lending for agric and rural devt rose from 18.1% in ’68 to 31% in ’81. In ’81 alone it was 4X as much as in entire period ’46 to ’68.

3) Debt crises and structural adjustment in 1980’s

· 1980’s further undermined belief in govt’s ability to manage economy. Many countries, especially Latin American and African, borrowed heavily in 70’s for consumption, projects, oil. A lot international lending by commercial banks, which didn’t investigate projects they were lending for closely. Relied on govt guarantees, a sovereign state cannot go bankrupt. Volume of int’l bank lending grew 800% in ‘70s. Productivity of investment in low and middle income countries dropped by 1/3 between ’60s and ‘70s. External debt grew from $63 billion in ’70 to $562 billion in ’80 (this is 8.9 times. Even if ave growth in LDCs was 10%, the debt could not have grown more than 3X to remain same share of GDP). High interest rates and terms of trade shocks generated a debt crisis. Interest payment owed by LDCs grew 40% ’80 – ’83. Mexico declared debt moratorium in 82. By ’82 commercial banks virtually stopped lending. Net financial transfers to LDC’s changed from net inflow of $36 billion in ’81 to net outflow of $30 billion in ’89. The crisis exposed weaknesses of state-led econ policies. Required rapid, flexible responses, which clunky bureaucracies were not capable of. Growing perception that bureaucratic skills in LDC’s (or anywhere really, but esp not where education levels low) not up to the complex task of micro-managing the economy. Stark contrast between majority of LDCs which did poorly and 4 NICs, South Korea, Taiwan, Hong Kong, Singapore which grew 8 – 10% during this period. While a lot of govt intervention even in these 4, also much more mkt discipline due especially to heavy reliance on exports. This led multilateral agencies like WB and IMF to make loans conditional on structural adjustment – emphasis on restructuring govt budgets, decreasing outflows, especially in form of subsidies to failing industries, increasing inflows, i.e. expanding tax base and reforming tax collection. Freeing prices (part of former), reducing regulation to reduce rent-seeking and increase taxable productive activity, shedding loss-making industries – privatizing, freeing trade. 

4) Shift to mkt-friendly strategies in 1990’s

· Thus while shift away from extensive gov’t intervention started in 70’s, really widely embraced only on ‘90s as evidence accumulated. Biggest push came from collapse of Soviet bloc. Evidence that command economies good at accumulating capital but bad at increasing productivity. Makes sense from point of view of incentives – can get allocations right only if prices are free to reflect true scarcity on as many goods and services as possible – i.e. mkts exist, are competitive, agents are free to respond to info contained in prices – stable macro environment, law and order, secure property rights. However, question remains, when is govt intervention necessary and when it is how is it best done?
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